would make you more attractive to women. [If R is female:] If you had sexual intercourse, it would make you more attractive to men.

% H2MOG6 - Do you agree or disagree with the following
statement? [If R is male:] If you had sexual intercourse, it

would make you more attractive to women. [If R is

female:] If you had sexual intercourse, it would make you

more attractive to men.

Do you agree or disagree with the following statement? [If R is male:] If you had sexual intercourse, it would make
you more attractive to women. [If R is female:] If you had sexual intercourse, it would make you more attractive to
men.

1 strongly agree

2 agree

3 neither agree nor disagree

4 disagree

5 strongly disagree
Conceptual Variable

1897 - Do you agree or disagree with the following statement? [If R is male:] If you had sexual intercourse, it would
make you more attractive to women. [If R is female:] If you had sexual intercourse, it would make you more
attractive to men.
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